
家庭学習プリント　正負の数１１　
１　次の計算をしなさい。

1 (＋6)×(＋2)
2 (＋7)×(－8)
3 (－5)×(－6)
4 (－5)×(＋2)
5 
6 
7 
8 4×
9 
10 (＋42)÷(＋7)
11 (＋30)÷(－5)
12 (－49)÷(＋7)










 (
「正負の数１０」
の解答
正負の数１０
（答えの＋はつけてもつけなくても正解）
－
270
　②－
230
　③－
4410
　④－
3232
　⑤＋
2
　⑥－
66
　⑦
＋
11
　⑧＋
15
　
⑨－
20
　⑩
0
　⑪＋
2
　⑫
＋
13
⑬
＋
12
　
⑭
－
12
　⑮＋
13
　⑯－
10
　⑰－
4
　⑱－
12
　⑲－
3
　⑳－
15
)
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 (
１年　　組　氏名
)


13 ÷(－5)
14 
15 (－15)÷(－2)×6
16 
17 
18 
19 (－12)×3÷(－6)
20 (－1)×(－2)÷(－8)
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の解答
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（答えの＋はつけてもつけなくても正解）

 

�@

 

�|

270

 

‡A�|

230

 

‡B�|

4410

 

‡C�|

3232

 

‡D�{

2

 

‡E�|

66

 

‡F

�{

11

 

‡G�{

15

 

 

‡H�|

20

 

‡I

0

 

‡J�{

2

 

‡K

�{

13

 

‡L

�{

12

 

‡M

�|

12

 

‡N�{

13

 

‡O�|

10

 

‡P�|

4

 

‡Q�|

12

 

‡R�|

3

 

‡S�|

15

 

